Review Parabolas & Hyperbolas
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Directions: For each expanded equation, write down the name of the shape and then

put it into standard form.
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Directions: Write the equation for each conic section described below

4. A parabola with focus at (-2, -2) and directrix of x = 6
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5. An hyperbola with focus points at (7, 7) and (7, -3) and slopes of asymptotes ig .
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6. An hyperbola with center of (0, -3), off vertex at (3, -3) and a focus at (4, -3).
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7. A parabola with vertex at (-1, 10) and focus point at (-1, 12).
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Directions: Graph each parabola on the grid given. Identify the vertex, the focus, and
the equations of the directrix and axis of summetry.
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Directions: Graph each hyperbola given and state the focus points and the slopes of the

asymptotes.
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